
 
 
 
 

Quick Start Instructions 

Assembly Instructions for the ECE 5000 with 
Manual Shutter & ECE Light Shield 

 
 
 

1. Remove the Filler Plate from the bottom of the ECE 5000 
Lamp (Figure 1). Look at the bottom plate of the ECE 5000 
Lamp.  Notice the cut-out in the Filler Plate.   

 
 

2. Place the Glass Shield on the Lamp. 

 
 

3. Place the Filler Plate over the Glass Shield with the cut-out 
face down. Check that the glass is sitting in this pocket.  

NOTE: If the glass is not positioned correctly, there is the 
potential to crack the glass. 

 

4. Secure the Glass Shield under the Filler Plate by installing the 
four screws (Figure 2). The screws should be hand tightened. 

NOTE: Do not overtighten the screws. Doing so may cause 
the glass to crack. 

 

5. Remove the Adapter Plate from the Manual Shutter by 
removing the four 8-32 x ⅜" screws.  

 

6. Attach the Adapter Plate for the ECE 5000 to the Reflector 
Housing with M4 x 8 mm screws (Figure 3). 

 

 

7. Remove the four inner screws from the Light Shield’s Top 
Plate (Figure 4). 

 
 

 

 
 
 

 
Figure 1. Lamp with Filler Plate Removed 

 

 
Figure 2. Install Filler Plate 

 

 
Figure 3. Install Adapter Plate to Lamp 

 

 
Figure 4. Light Shield Top Plate,  

Remove Center M4 x 8 mm Screws 
 



 
© 2013 Dymax Corporation.  All rights reserved.  All trademarks in this guide, except where noted, are the property of, or used under license by Dymax Corporation, U.S.A. 
Please note that most dispensing and curing system applications are unique.  Dymax does not warrant the fitness of the product for the intended application.  Any warranty applicable to the product, its application and use is strictly limited to that contained in 
Dymax’s standard Conditions of Sale.  Dymax recommends that any intended application be evaluated and tested by the user to insure that desired performance criteria are satisfied.  Dymax is willing to assist users in their performance testing and evaluation by offering 
equipment trial rental and leasing programs to assist in such testing and evaluations.  Data sheets are available for valve controllers or pressure pots upon request.                                          QS057     4/19/2013 

       

Dymax Corporation 
860.482.1010 | info@dymax.com | www.dymax.com 
 

Dymax Oligomers & Coatings 
860.626.7006 | info_oc@dymax.com | www.dymax-oc.com  

Dymax Asia (H.K.) Limited 
+852.2460.7038 | dymaxasia@dymax.com | www.dymax.com.cn 

Dymax Europe GmbH 
+49 (0) 611.962.7900 | info_de@dymax.com | www.dymax.de 
 

Dymax UV Adhesives & Equipment (Shanghai) Co. Ltd.        
+86.21.37285759 | dymaxasia@dymax.com | www.dymax.com.cn 

Dymax Asia Pacific Pte. Ltd. 
+65.6752.2887 | info_ap@dymax.com | www.dymax-ap.com 

Dymax Engineering Adhesives Ireland Ltd. 
+353.1.231 4696 | info_ie@dymax.com | www.dymax.ie 

Dymax UV Adhesives & Equipment (Shenzhen) Co. Ltd. 
+86.755.83485759 | dymaxasia@dymax.com | www.dymax.com.cn 

Dymax Korea LLC 
+82.2.784.3434 | info_kr@dymax.com | www.dymax.com/kr 

 

 
 

8. Place the Manual Shutter on the Light Shield. 

 

9. Attach the Reflector Housing/Shutter Plate Assembly to 
the Shutter and Light Shield with the Securing Brackets 
(Figure 5). Use M4 x 8 mm screws to attach the Light 
Shield to the Shutter and to secure the bottom portion of 
the brackets to the Light Shield’s Top Plate.   

 

10. Connect the Power Supply to the Lamp with the 
Interconnect Cable (PN 40695) (Figure 6).  

 

11. Using a second Interconnect Cable (PN 40878), connect 
the ECE Light Shield to the J5 Receptacle on the rear 
panel of the Lamp. 

 
 
12. Install the Bypass Connector in the J4 Receptacle on the 

rear panel of the Lamp.   

 
 
13. Connect the Power Cable to the Power Supply and 

connect the opposite end to a power source. Unit is now 
ready to operate.  

 
 

For detailed operating instructions, please refer to the ECE Flood Lamp User Guide. 
 
 
 
 
  
 
 

 
Figure 5. Attach Securing Bracket with  

M4 x 8 mm screws  

 
 

 
Figure 6.  Rear Cable Connections 

 

http://www.dymax.com/
http://www.dymax.de/
http://www.dymax.com.cn/

	Assembly Instructions for the ECE 5000 with Manual Shutter & ECE Light Shield
	For detailed operating instructions, please refer to the ECE Flood Lamp User Guide.


